OBJECTIVE PHYSICS NDA

. Which of the following is the example of

ideal black body

=1 o @ Far srreEl BforeT &1

IQIEX0T 7 |

(a)kajal PToTel

(b)blackboard Ta1dUC

(c) a pinhole box T &lel 919

(d) none of these 99 | ®Ig Tal

. Light year is unit of:
UHIel 99 A=d 2 |

(a) time HHY

(b) Speed of light 9&TT & AT

(c) distance §XI

(d) mass c<IHIA

. Permanent magnet can be made from
IRl gr® 9™ ord 2 |

(a)cobalt BIdTeT

(b)Aluminum g A

(c)zinc ~SI®

(d)lead &S

. Compton effect is associated with
S yag =1 F 8 feaa aEfea

e |

(a) positive rays &IFITT® fHRol

(b)b-rays drer faor

(c)x-rays x feol

(d) none of these 99 ¥ ®ig Tal

. The forward voltage drop across a silicon

diode is about

ffae™ sHis 4 wrRas fqwa fea-r

gldr @

(a) 2.5V (b) 3V

(c) 10V (d)0.7v

. In pressure cooker pressure applied is
UIR HFHX W 9 BaT 2 |

(@) 1 atm (b) 2 atm

(c) 3 atm (d) none of the above

using a high current fuse in a low current

applied is very

S7od gRT WS # 9 gRT 9= S0

2

1

10.

11.

12.

(a) safe gRf&rd

(b) dangerous WdX-TTdh

(c) necessary STasI

(d) none of the above §-1H | ®ig T8l

When the graph between current through and
voltage across a device is a straight line, the
device is referred to as

o9 fedl arai® @ dieeol U4 ORT @
41 YT 9911 IR 98 A]d @1 U Bl
dl 98 drai® ghar & |

(a)linear Y&

(b)active dfspa sRETT

(c)nonlinear IR

(d)passive FAfspa

A zener diode has:

SIFR SHTs &idr @

(a)one pnjunction ¥& P-n Efer

(b) two pnjunctions & P-n uf&r
(c)three pnjunctions 9 P-n A
(d)none of the above 39 | ®Ig &1
A zener diodeisused as ................
SR Srts & v fear Srar 2
(@)An amplifier TFITHBTAR

(b) a voltage regulator @iec sl T[T
(c)rectifier YFETBTAR

(d) amultivibrator e IaTIAR e

Bats detect the obstacles in their path by
receiving the reflected

TIGTS U # A dlel @RI B IR
H oF uid @ A 4 9 e as &l
(a) infrasonic waves UXT3]

(b) radio waves fsat

(c)electro-magnetic waves ﬁl’{lﬂ ﬂﬁﬁﬂ'&
(d) ultrasonic waves SUSd

The minimum distance between the source

and the reflector, so that an echo is heard is
approximately equal to
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13.

14.

15.

16.

17.

T g1 @ forg giar ¢d g1Es & 4=
7 o9 4 o9 feah g0 2wy
(2)10m 10 #io (b) 17m 17 #i0
(c)34m 34 #Hl0 (d) 50m 50 #I0

When sound travels through air, the air
particles
o9 &af a9 4T 9 YoRdl © dl 84T ©
BT |
(a)vibrate along the direction of wave
Propagation
a1 @ doi @&l {3 § $u9 3 2 |
(b)vibrate but not in any fixed direction
$u fe<ht srfaefaa feem & g
(c) vibrate perpendicular to the direction of
wave propagation
a9 @ dad @) fden @ d9ad suA
B ® |
(d) do not vibrate Y9 & I 2 |
Sound waves do not travel through

wafy a3 = 7 9 fead @ 98

ol 2 |
(a) solids 14 (b) liquids &a
(c) gases 4 (d) vacuum frafa

The frequency which is not audible to the
human ear is

1 ¥ 9 319 W sngfa w9 & s

T2 g9 9&d © |
(a)50Hz (b) 500Hz
(c)5000Hz (d) 50000

Which of the following will remain
unchanged when a sound wave travels in
air or in water?

o gafey a<at fexdl aregd ¥ 9o &
af =1 | @ar T 9gaan 2
(a)Amplitude 31T
(b)Wavelengtha=iTa et
(c)Frequency 3fTqfed
(d)Speed AT
Sound and light waves both
eafvT gd Yerer -
(a) Have similar wave length

A e Tt 2
(b) obey the laws of reflection

wRrdad @ 99 &1 9T &Rl 2
(c) travel as longitudinal waves

IURT AN B

(d) travel through vacuum

forafa & =erdy 21

2

18.

19.

20.

21.

22.

23.

Which of the following quantities is
transferred during wave propagation?
I HAROT | T A4S shaAT B |

(a) Speed dT (b) Mass SIHTH
(c)Matter I (d)Energy Solt

The persistence of audible sound due to the
successive reflections from the surrounding
objects even after the source has stopped to
produce that sound is called.

Hid ¥ &1 =T & 9§ B9 > 915 H
IR—9R @f GA1$ AT Hgaral 2 |
(a) reflection URTdd=
(b) echo T[oT
(c) reverberation ufa&g
(d) rarefaction faver=1
Thermos is also known as
oHid &I I fbd AW | <IAT SIrar
T |
(a) temperature flask
Yolellth
(b) heat flask
Yellth
(c) thermal flask
Yellth
(d) vacuum flask
frafa vars
Fuses will work only
TSl HTH BT B |
(a) for infinite time 92T & felg
(b) In day light f&=1 &
(c) once Uah dIX
(d) Twice &1 IR
When there are no external forces, the
shape of a liquid drop is determined by
S1d I3 9189 9 9 sidl §5 &I
MBI gar fear smar 2
(a) Surface tension of the liquid
CLSEGE I COR
(b) Density of liquid
Y
(c) Viscosity of liquid
AT
(d) Temperature of air only
g4l @& A0 ¥
Choose the wrong statement from the
following.
v 9 @ Taa due 2
(a)Small droplets of a liquid are spherical

due to surface tension
BII 42 Md U a9 & HRIT
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24,

25.

26.

27.

Bhdr 21

(b) QOil rises through the wick due to
Capillarity
qrdl 7 dd SI¥$Ia & 998 ¥
gedl 2 |
(c) In drinking the cold drinks through a
straw, we use the phenomenon of
capillarity
T H &1 HIR&d &1 Rigrd o @
(d) Gum is used to stick two surfaces. In
this process we use the property of
Adhesion
]l |dgl &l s 9 fauer w® I
&1 Rigra &™ &xar 2 |

When the angle of contact between a solid
and a liquid is 90°, then

39 ®Ig 3 Ud &9 &I ddsl @& 44
®ior afe 90° &1 4l
(a) Cohesive force >Adhesive force
TAS® g1 >IATAold gl
(b) Cohesive force < Adhesive force
TAS® g < ASID g
(c) Cohesive force =Adhesive force
qAGd 9ol = ATASId dcl
(d) Cohesive force >> Adhesive force
gaoid >> old dcl
The rise of a liquid in a capillary tube does
not depend upon

HRIGA § daf &1 Soa1 = 94 9
foa wr oz 98 s=ar 2

(a) Angle of contact Tagfa@IoT

(b) Density of the liquid g9 ®I "+

(c) Radius of the capillary tube sTell &I AT
(d) Atmospheric pressure 41y HUscl <Td

The pressure just below the meniscus of
water
Sd @ Jdds® ® d <19 &idl 2 |
(a) Is greater than just aboveit
gD HUX q ST
(b) Is less than just aboveit
SR q B
(c) Is same as just aboveit
$HD HUX & §R[E%
(d) Is always equal to atmospheric pressure.
g qE & RIS
Meniscus of mercury in capillary is
UYR &I I94dgad Bidl @ |
(a)Concave 3ddel
(b) Convex Scddl

3

28.

29.

30.

31.

(c)Plane HUTC

(d) Cylindrical SAATHIR

A freely suspended magnet will always
come to rest in the direction
FAdAdYdd dcdhl gad& dad faem
¥ wdhar 2|

(a)East-North §d i

(b) North-West Sk uf¥gH
(c)North-South SwIX &f&ror

(d) South-West <fareT uf¥=H

The magnetic flux

G Foldd 2
(a) is a scalar quantity

(b) is a vector quantity

(c) denotes the amount of the force on a
north pole
Scadl gd WX 9 DI q1AT

(d) is the magnetic moment of a bar magnet
gD BT gga el

The specific resistance of a wire depends on

fesy arere @ gfcRigsar AR s

T

(a)its radius f=r<am

(b) Its length i aTS

(c) the material of the wire g<Tef

(d) its shape 3THIY

The resistance of a conductor is due to

fod) arerd @1 ufoxier siar 2 |

(a) the flow of current in the conductor
qreld H ORI & HIROT

(b) the collision of electrons with atoms
AV B g D WA HEUCH D
DINIT

(c) The attractive force between electrons
and protons
golded Wied & 9 9 & ST

(d) the thermal agitation of electrons

D BRI

32.Sun appears red at sun rise and sunset.

This is due to scattering of

¥ 3 vd Sy @ 9wy dre fewar 2@
famteyor |

(a)longer wavelengths/e T8 aRTaed

(b) shorter wavelengths/81dY aided
(c)lower frequencies/®d 3gfed

(d) all frequencies
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33.Tyndall effect is the scattering of the

34.

35.

36.

light by

fesa yvra fawar @ usmrer « fafevor
® HolRd®d

(a)air particles a1 & &I

(b) solid particles 3T & &I

(c)liquid particles @ @& ®oT

(d) colloidal particles®IRIST &7

If two bodies of different masses,
initially at rest, are acted upon by the
same force for the same time, then the
both bodies acquire the same:

IfE ] IAST—3MTdd g9 il 6 Rer
3EARET H 2 | O gl TR
faeenfia & wd 2 S9&T A1 d 9
RT I 81T |

(a)Velocity a1

(b)Momentum Fa T

(c)Acceleration axo1

(d) Kinetic energy rfa ST

Large transformers, when used for some
time, become very hot and are cooled by

circulating oil.
I GTEBIUR Sld 9gd o} db AT d
™ OTd & °f 9 3rcafere TH 8l o
21 3R S ST dd varfed #xa fear
Sar 21 9 =1 4 9 few gog 9 W
gl W B |
(a)The heating of the transformer is
due to
3iferey 19 vd aRT &7 arfia Soil &
DIROT
(b) both the heating effect of current and
hysteresis loss
dad e g1y
(c) hysteresis loss alone intense sunlight
at noon
dl gu
(d) the heating effect of current alone
gRT & ardI Y919 & HIROT
Rectifiers are used to convert

faesedr™) w4 ™ Od @ 9o @
ferg

(a) high voltage tolowvoltage
S@d qleco &I = o

(b) Direct current to Alternating current

DC @l AC #

(c) low voltage to high voltage

=1 Qe &t Swa A
(d) Alternating current to Direct current

AC & DC #

37.Sound waves in air are

eqfsT a1 gar °4 idl 2 |
(a)longitudinal 3T
(b)polarized gfaa
(c)electromagnetic dgd g
(d)transverse 3ITU¥A

38.When a bar magnet is suspended in a

uniform magnetic field, the bar magnet
4 U B dab i (bl G g
a3 # 3@l oar @ i
(a) will move along the direction of the field
I8 a9 & faem § wfq oxar 21
(b) will move opposite to the direction of the
Field
g a3 @ feem § fauRa wfa &=ar 2
(c) will move perpendicular to the field
98 89 & odad T BT B |
(d) will turn in the field
a3 A 43 orar 21

39.A bar magnet kept in a magnetic field

JaddII & 9 3= B d9b |
(a) becomes parallel to the field
g9 @ gATGaN gdr @
(b) aligns at right to the field
a9 © ovdad sidl 2 |
(c) turnsby45°
45° {$ WIET 2 |
(d) turns by90°
90°q$ WITaT 2 |

40. Ampere-metre2 is the unit for

gy flex 2 =1 ¥ 9 feasr a=s
T |
(a)magnetic moment
B ATl
(b) pole strength
gd |
(c) magneticfieldintensity
JESII & B daar
(d) magnetic potential

grEoIg faug

41.Magnetic moment is

G ATl B
(a) a force on abarmagnet
gdb U oI 9ol

(b) a torque on a barmagnet
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gdd U T ATl
(c) pole strength of afar magnet
996 @ gdl &1 ared
(d) magnetic field produced by a bar
Magnet
q9% gRI a9 &4
42.When a glass is introduced in between
the plates of a parallel plate air
condenser, its capacitance will
gfe fedl guiar wie 9gila & =9
7 afe =gl & v wic ovm < o
ar erfRdar
(a)not change T8 9ol T
(b)decrease ErT
(c)increase S& T
(d) tend to zero T Bl S|
43.1f a negatively charged conductor is
brought near a positively charged
conductor , its potential
Ife v FonmaTd JMART dTeld eF TS
IR ard® ® U @rT oar @ i
fawa
(a) Increases d&dT @
(b) decreases ®rcar &
(c) Remains the same GHT- Y&dT &
(d) becomes zero I & ST B |
44.The capacitance of a capacitor when the
distance between the two plates is
doubled
deRa 1 erRar @ar g afs wiel @
4 a1 & <1 A Bl
(a) reduceto zero I
(b) is doubled SRLAT
(c) remains the same W99 &}
(d) is halved 3meft g8 S |
45. Circuit breaker work
gRuer fae8ad &M Hxar 2 |
(a) constantly 8% 99
(b) only once T 49X
(c)where there is resistance <19 ufaRier &t
(d)whenthere is magnetic field 519 a&1a a=
8l

46.Logical algebra was developed by
dioorg feas g9t oft |
(a)Pascal UIiX¥db ol
(b)Pythagoras UTS&ATMNR™
(c)George Boole SISl gefi
(d)Poisson utgd+

5

47.The gate which is called an invertor is
1 ¥ @ fpQ 39adR e wEa 21
(@)OR (b)AND
(c)NOT (d)NAND
48.Light waves are U&Tel @<l 2 |
(a)longitudinal sTJaed
(b)transverse  3IITU¥A
(c) like sound waves &afsT =M & A
(d) like pressure waves &4 @33 & A
49.The light which cannot be completely
plane polarized by reflection is
=1 9 | oI a1 /1 &1 e
WRradd gRT qudd gfaa w8l fear s
BT B |
(a)recolor €Tt
(b) green color &1
(c)white color ¥% T
(d) blue color =frer
50. Which among these are the main
characteristics of a fuse element
fr1 4 @ &9 91 W & T 2
(a)low melting point =1 e Ti®
(b) high conductivity S=d dlelddl
(c) least oxidation &H d HH IMMTaITHIOT
(d) all of the above SuRiaad T+l
51.The frequency range of audio signal is
from
e Rieae @1 angfa fea siavra o
gl g |
(a) 20Hzto2000Hz
(b) 20 kHz to 20MHz
(c) 20 Hz to20kHz
(d) 20 Hz to 20000kHz
52.A length of wire that has low melting
point is known as
QAT 4T ardds fSra®T 16 98d
=1 8 S9 ®ad 21
(a) resistor ufaRie
(b) fuse wgSI
(c) circuit breaker aRuer fazsT®
(d) capacitor HeITRA
53.The range of the projectile depends on
the square of the initial velocity and?

U BT 9 RS 97 93 3R
R R oxar 21
(a) sine of twice the projection angle 6

HEYYT HIVT & I B sine

(b) cosine of twice the project angle 0
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H&YYT HIVT S I S cosine

(c) cot of twice the projection angle 6

Y& HIVT b cot
(d) sine of thrice the projection angle 6
g&Yer HIvT & R @& sine
54.Which instrument is used to measure
altitudes in aircraft's ?
fd I3 &1 AT agATE B SHATg
gdr dx1 ¥ dxd 2 |
(a)Audiometer 3mfeat #Hfrex
(b)Ammeter THIEX
(c)Altimeter 3TecIHIiex
(d)Anemometer THHIHIER
55.Which instrument is used to measure
depth of ocean?
s $I ey fea I3 @RT 9rdl ol
=l
(a)Galvanometer ied=idiex
(b)Flux meter berdaHicy
(c)Endoscope USIEhIY
(d)Fathometer haiHiex
56.Convection is the process of heat
transfer from one location to the next by :

TdeT Soll TIaReT o fafer 2 foras
BT =
(a) The movement of fluids
Sd  RATATAROT
(b) The movement of kinetic energy
f SHol TIATaReT
(c) The movement electromagnetic waves
JaBII STl RIATART
(d) None of the above
SWigd d 4 $is gl
57.Who developed the concept of inertia?
Siesw@ @&l fram feae ufourfea fear o
(a)Newton -ge-1
(b)Galileo tferferan
(c)Johannes Kepler =ik
(d) None of the above 38 | ®Ig T8
58.The motion on a curved path, when
one component of velocity is constant
and the other is variable is called?

gfe HIg fUs apig uer fa w=ar
2 U9 S9®d 47 &bl U 9T Rera
® Ud QT 94l BT @ df 98 i
BHEATT 2 |

(a)Projectile motion
gawR I g fa

(b) circular motion
gofia fer
(c)vibratory motion
U A
(d) spin motion
EEadl
59.The angle between centripetal
acceleration and tangential acceleration
Is?
YD AR @RUT Ud TEREE @l @
= fora=r sior gar 2
(a)90° (b)0°
(c)45° (d)180°
60. The angle between centripetal
acceleration and tangential acceleration

is?

9 DI 944 2 |

(2)90° (b)0°
(C)45° (d)180°

61.Optical fibers are based on the
phenomenon of:
Jftesda dg fea Rigr av a1 2|
(a)Interference Safdda® T
(b)Dispersion faggor
(c)Diffraction faad=
(d) Total internal Reflection ot aaR®
WRIEd

62.Which among the following waves is
used for communication by artificial
satellites?
=1 7 9 i W AR G
SUYEl §RT SUAT &I oIl 2
(a) Microwaves HTSHIaRT
(b) Radio waves fsaida<aT
(c) A.M. IJTAT AP AT
(d) Frequency of 1016series 31g 1016
el

63. The rate of transfer of charges through a
circuit is called?
ATAY TATFTARYT Bl dX bl 7T Had 2 |
(a)Potential Difference fawar<
(b)Energy Sott
(c)Resistance fiRIe
(d)Current &1

64.The power dissipated in a resistance is
given by?
yfRig gRT Aiarell Y ot =8 2
(@)I”R (b)IV

6
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(c)VR (d) All of these
65.0hm’s law obeyed in?
| BT a9 g Bar 2|
(a) ametallicconductor
dgd & @& feem A
(b) a semiconductor
dgd &3 @& faem & ddaq
(c) in all of the above
dgd a3 @1 faur & fauda
(d) an electron tube
$TH ° ®Ig T8I
66.When a p.d is applied across a
conductor, the electrons experience a
force in?
o9 fawaiay mRifua fear sirar @ af
Il SASFET U da BT AT B
e |
(a) the direction of the electrified.
A IR 9T 9
(b) the direction perpendicular to the
established electric field
JIET—3RTA IRT GAF favaiay & forg
(c) the direction opposite to the established
electric field.
a1 fawarar @ ferg
(d) None of above
$TH 9 ®Ig T8I
67.All electrical appliances are connected
in parallel to each other between the
main line and the neutral wire to get?
faega &= @1 faenm & fauRa fear
SIrar 8 o 9l sd9eT™ Uh 9 &I
ITHG HId B |
(a) the same current
a1 faggd grr
(b)different current and the same
potential difference
94T fagd arT ¢ fawar=x
(c) None of these
S 9§ @lIg T3
(d)the same potential difference
LI
68. If the wire of uniform area of cross-
section is cut into two equal parts, the
resistivity of each parts will be?
faga aRuer # AR I3 99a” &9 9
& U4 }god dR & §14k d oA S
? o

7

(a) doubled -
(b)Halved 3reft
(c)four times TR T[T
(d) Remain the same qdada

69.If the wire of uniform area of cross-
section is cut into two equal parts, the
resistivity of each parts will be?

afe fedl AR @ &S@FA%d Bl JMET B
fear o o Sa@! ufoRigs 8 ol
=
(a) doubled T[T
(b)Halved 3rrelt
(c)four times aR I=T
(d) Remain the same qdada
70.0hm is equivalent to?
I = 2
(a) ampere/volt BFaaR/diee
(b)coulomb/volt GaATH/dTee
(c)volt/ampere diee/ Yfgax
(d) volt/coulomb darec/acmH
71.The number of coulombs of charges
that passes any section of the
conductors in one second is called?
fr e A% A oA ard
HATH IATATT AT B AT B Had
T |
(a)Power dissipation Sull T
(b) Electromotive force fd=ra ars® dd
(c)Current €IIRT
(d) internal resistance 3afR@ ufaxier
72. Theterminalpotentialdifferenceofabatte
ryisequaltoitse.m.f.whenitsinternalresis
tance is?
feft 91 &1 gfiAe fave dga aEs
¥l ® a6} Bidl 8 afe 4 &1
IaRe ufoxier 8l
(a)very low 9gd ®H
(b) very high 9gd Sdr1<aT
(c)zero I
(d) None of these 3718 | &g
73.1f the angleo finci dence ,
Bi=0°,theangle of reflection,Br=
Ifs JTga divT Bi=0° 8l dl uxTad+
BT Or =
(a)0° (b)90°
(c)180° (d)45°
74.Total internal reflection will occur if the
angle of refraction is...
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gyuf r=aRe uxrad= ghar @ o9
Jyqdd{ HIvT gldm 8
(a)45° (b)60°
(c)90° (d)99°
75.The refractive index of a rarer medium
with respect to a denser medium is...
[ ATEgd @ Juer faRa Jreaw &1
Jqad=iie har 8 |
()1
(b) greater thanl 1 & SAT&T
(c) smallerthanl 1 & &H
(d)negative FITTcH®
76.The refractive index of a denser medium
with respect to a rarer medium is...
favar wreaw @ AT YA HIETH BT
IJYadATd BT & | gHdd U7 §RT 917
ufafess ghar 21
(@)1
(b) greater thani 1 9 Sarar
(c) smallerthanl 1 & &#
(d)negative RUTTHD
77.The image formed by a plane mirror is
hdd <4 g1 9+ ufafasa grar 2
(a) real drxfd®
(b) diminished €T
(c) enlarged 91
(d) laterally inverted Se<t
78.Absolute refractive index of any
medium is always.
foodt wremw &1 FFRAE Irgad=id Biar
e |
(@)1 (b) >1
(c)<1 (d)o
79.Which of the following has the highest
refractive index?
1 ¥ 9 fHaer uad-re aafere grar
e
(a)Glass @frem
(b)Water gr=it
(c)Pearl #i<fY
(d)Diamond BIRT
80.No matter how far is the object from the
mirror, the image of the object appears
erect. The mirrors.
q¥q dre forasm 1 gX B Sud) s
e ufafars g9 arer gdor 2
(a)concave 3dddl
(b)convex Jcddl

8

(c) either concave or convex
qT a1 Scdol AT Eadd
(d) none of these s-TH
81.For plane mirror, magnification(m)=

THdd gdvr & fog 3maes (m) giar 21

@o (b)1
(c)x1 (d) <0

82.We can see objects because of which
phenomena?

g4 Aol & 9@ U © g9 U8 i
a1 Rigr=a
(a) reflection TRTdd+d
(b) refraction 3rdad=
(c) transmission AT
(d)diffraction faad=
83. When a steady current flows through a
conductor, the electrons in it move with
certain average speedas—
o9 fedl aras 7 Reya grt 98 &)
gl dl SodeTEl @) |reg darel siddl 2 |
(a) Acceleratedspeed @Ra ara
(b) root mean squarespeed
qreg ol drel
(c) driftspeed 3rqare= 4T
(d) average velocity ATEd a1
84.Which of the following is incorrect about
the heat produced in a resistor?
fodl uftRigas d e Sol & Gy
¥ HI9 AT A Tad 2 |
(a) It is directly proportional to the square of the
current
Ig ORT & a9 & IHATUTA Bhar 2
(b) directly proportional to resistance for a
given current
I Ui & AU gar @
(c) Directly proportional to the time for which
the current flows through the resistors
qE G © IIHAUTA ghar 2
(d) None of these
31 9 BIs A8l
85.What is the direction of electric current in
an electric circuit?
fo<ft fagra uRuer & arr @ e &
2 |
(a) from positive to positive
gATHS O GIHD
(b) from negative to positive terminal
FOMHS O TATHD
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(c) from positive to negative
gD d FOMHD
(d) from negative to negative
FUMTHD A FUTHAD
86. Why is tungsten used exclusively for
the filament of an incandescent lamp?

AW § TIReAd BT dR SUYAT fear
ST 8 | |ifd
(a) Tungsten can be drawn into thin wires
which in turn offer high resistance
TIRTAd Bl dd R & ®©I H STal ol
AHdT & AP ufa”ia @ forg
(b) Tungsten has a fairly good resistivity
SIS @1 ARG 9gd ATl Bidl @
(c) The melting point of tungsten is very
high
SR 3 TAA® 9gd SATST BT ©
(d) All of these
SURIqd g+l
Which of the following material is used?
for electric wire heater?
fagga fdex ¥ &I9 a1 uarel gy o
ATAT ST 2 |
(a)Silver AT (b) lead oIS
(c)Nichrome TgshI®  (d) Copper qfdT
Why ammeter is likely to burn out if you
connect it in parallel?
gfler afe gaiar w9 H @rar o dl
SU® Sl Y GHIGAT gidl 8 | it
39® 99 Bidr 2 |
(a) It has high voltage
Sod
(b) It has high resistance
S@d yRkRig
(c) It has low resistance

=1 afasig

(d) It has low voltage

87.

88.

89. Statement A: light from bathroom bulb
gets dimmer for a moment, when geyser
is switched on,

AT A:  9IIHH H I 9ed MO AT
B TR T B8 wrar 2

Statement B: Insulators conduct charges,
they can be charged easily by friction.
$A B: IATcId NG UYdTfed Hed

2| gyur

FRT d Iaf¥@ fod o 2 |

9

(a) Both the statement A and B are true
HATA AR B I wdr ?
(b) statement B is true, A is false
$AU- B WL, A Tdd @
(c) Neither statement A nor statement B is
true.
T dl AR B AE 63l @
(d) statement A is true, B is false
®U A 9el, B Wdd @
90.What will happen to current passing
though a resistor if the potential
difference across its ends is doubled
and the resistance is halved?
faega a1 R @1 yHTE 9SS afe
ufRigs 3rem ¢a faua i &) faan
SITA?
(a) Becomes four times
4 AT B SR
(b) Becomes halved
el & S
(c)Remain unchanged
d
(d) Becomes one fourth
1/2 8 <SR
91.Match the following with correct response.

el frem feforg |

1.Electriccurrent (A)Ampere
ded arRT [YES DRy

2.Resistance (B)Volt
uforig dqiee

3.Potentialdifference  (C)Ohm
fawaraz A

4. Resistivity (D)Ohm-m
ufoRIer®dr 3 Hex

(@) 1-A, 2-C,3-B,4-D (b)1-B,2-D,3-A,4-C
(c) 1-D, 2-A,3-C,4-B (d)1-C,2-B,3-D,4-A
92. Ohms law is not obeyed by—
M| & a9 &1 greas 12T ghar 2
(a) Only electrolytes
$ad fag[a Auacy
(b) semiconductor and diodes
Jedara®d Ud Srars
(c) alloys
fsrarg
(c) semiconductor and electrolytes
Jefarae ud fagga sdecy
93. The actual flow of electrons which
constitute the current is from:
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94

95.

96.

sadeT Sl @ oRT 1 fHfor sxar 2 s
feem =i 2
(a) Negative to positive termina
FIMHAS A gATHD
(b) Positive to negative terminal
YT 4 RUTTHD
(c) Flowatrandom

(d) None of the above

¥ 9 BIs T8

. What is the effect of changing the wire in a

circuit from a straight thick wire to a longer
(coiled) thick wire?

afe gRuer § aR & Mg d gHsfaa
w9 H 9o fear A al
(a) The bulbs become dimmer
qed 9T B8 SIrgI
(b)The bulbs become brighter
Icd gD I
(c) The bulbs stay at the same level of
Brightness
&I aRdas =1 s

(d) none of the above

T 9 SI¥ T

Match the following with correct response.
el freme sRA
List-I List-1I

. Best conductor (A)Silicon
CIEY faferar
Standard resistor (B)Silver
foRias aral
Semi-conductor  (C) Ebonite
Irefaras EC IBIET

. Insulator (D)Constantan
S EIRES C R o |

(a) 1-C, 2-B,3-D,4-A (b)1-A,2-C,3-B,4-D
(c) 1-B, 2-D,3-A,4-C (d)1-D,2-A,3-C,4-B
Statement A: Resistivity increases with
decrease in temperature in insulators.
Statement B: Resistivity of a conductor
increases with increasing temp.
$AU A: JATadd A AfoRIETHdT dedl & afe
a9 91T Wt
$U B: dard® A yftRigewar sedt 2 afe
qg JerT oY |
(a) Neither statement A nor statement B is
true
A 9B Il TAd ®
(b) Both the statements A and B are true

10

97.

98.

A 9B 3l ud @
(c) Statement A is true, B is false
A&l B Idd @
(d) statement A is false, B is true
ATTeTd B W&l 2
aganin is an alloy of—
A a1g 2
A. Copper ®dTUx
B. Manganese A-fIol
C. Nickel ffda
D. Platinum wife=4
(@AandC A 3R C
(b) Aand B A 3R B
(c) All of these |HT
(d) A B,C
Nichro me and copper wires of the same
length and same adius are connected in

series. Current is passed through them.
Which of the two get heated first?

ASHIH Ud HIUX b < GHIH 9IS Uq
oroar @ Rt & afe Aoty e
ST df g9 9 HI9 gsd TH BN

(a) copperware HIUR

(b) Nichromewire ATSshI

(c) None of these HI§ T&I

(d) Both &It

99.What is the Sl unit of electrical

conductance?

faera ara®ar &1 99 2 |

(a)Volt aiee (b)Watt d1e

(c) Siemens A= (d)Ampere TfgaR

100 . Match the following with correct

response.
firams foforg |

List-l List-Il
Bulbfilament (A)Nichrome
ded flhare ArSHhidg

Heating element (B) Potentiadifference

of anelectriciro frvaiaz

ug H o fhamc

Superconductors(C) Zero resistivity
I ufoRig®ar

(D) Tungsten

RISk |
(b)1-B,2-D,3-A,4-C
(d)1-C,2-B,3-D,4-A

EMFisa

faegga ared 9«
(@) 1-A, 2-C,3-B,4-D
(c) 1-D, 2-A,3-C,4-B
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ANSWER KEY
1 C 26 B 51 C 76 B
2 C 27 B 52 D 77 D
3 A 28 C 53 A 78 B
4 C 29 A 54 C 79 D
5 D 30 C 55 D 80 B
6 B 31 B 56 A 81 B
7 B 32 B 57 B 82 A
8 A 33 D 58 A 83 C
9 A 34 B 59 A 84 D
10 B 35 A 60 C 85 C
11 D 36 D 61 D 86 D
12 B 37 A 62 A 87 C
13 A 38 D 63 D 88 C
14 D 39 A 64 D 89 D
15 D 40 A 65 A 90 A
16 C 41 B 66 C 91 A
17 B 42 C 67 B 92 A
18 D 43 B 68 D 93 A
19 C 44 D 69 D 94 C
20 D 45 A 70 C 95 C
21 B 46 C 71 C 96 D
22 A 47 C 72 C 97 D
23 C 48 B 73 A 98 B
24 C 49 C 74 C 99 C
25 D 50 B 75 C 100 C
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